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QUESTION 1

Which two Nutanix features offer the ability to restore a VM? (Choose two.) 

A. Data Protection 

B. Nutanix Leap 

C. Nutanix Flow 

D. Site Recovery Manager 

Correct Answer: AB 

 

QUESTION 2

Which component allows you to pair sites for Disaster Recovery Policy Creation using Nutanix Leap? 

A. Protection Policies 

B. Protection Domains 

C. Recovery Plan 

D. Availability Zones 

Correct Answer: D 

 

QUESTION 3

What happens when an HDD fails within a Nutanix cluster? 

A. Data is reprotected automatically 

B. Data is unavailable until disk is replaced 

C. Data is lost and must be recovered 

D. Data is rebuilt to a hot spare disk 

Correct Answer: A 

 

QUESTION 4

What is required to successfully live migrate a VM Between two AHV clusters? 

A. Stretch L2 networks across the primary and recovery sites 

B. Configure a Protection domain with synchronous replication 
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C. Install and Configure the witness VM on a third Site. 

D. Both clusters must be managed by the same prism central 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 

A team member has built a CentOS VM image for use as a template. An administrator deploys a new VM 

using the CentOS image as the 05 drive. No other drives are presented to the VM. 

Following the deployment, the administrator attempts to boot the VM, but is unsuccessful. 

What could be causing this issue? 

A. The VMS Boot Priority must reference disk first before CD-ROW 

B. The VM\\'s Disk (scsi.O) setting must be set to make this disk bootable 
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C. No Volume Groups have been created for the VM 

D. The CentOS VM image was built with UEF: 

Correct Answer: D 
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